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MODERN BANKING PRACTICES
Paper : 603

Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Choose the correct answer :  1x10=10
% Behl AR Tferea ¢

(@) In which year was the State Bank of
) India established?

@ 5% SRON (86 (AT zrf%éiw =R 2
() 1921 / 5»x> (i) 1948 / s»8v
(i) 1949 / 558  fiy) 1955 / d»vee

() Schedule 10 in the bank balance sheet
relates to

A THE-@ oW GPPE TEY T
Rewh 2=

(i) investments / Rffica

(i) advances / S

(iij) fixed assets [ TR T=eifs

(iv) other assets / S =&
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(2)

(¢) In which year was the Reserve Bank of
India nationalized?

@H e SRoN e AT womsId A
c2f=e 7

() 1934 [ yse8
(i) 1935 / Ssee
(it) 1948 [ 358v
(i) 1949 / 3585

(d) Statutory obligation of a banker is/are
to

QR Rfdam witg 2=

i) honour customers’ cheques
AP (6F W 11

(i) maintain secrecy of his customers’
account

e BoreE caneiREe! %1 4

(i) honour customers’ bills

as Re ofReny s

(iv) Both (i) and (fi)

(i) | (i) TTADTZ
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(3)

fe) Cash credit and overdraft are granted
o A S SRR o ¥ W
(i through the savings deposit

account

Sl w1 BorR SIS

i) through the current deposit
account

wfere &1 51 s e

(iii) through the fixed deposit account
T o RoreR wIWCe

(iv) All of the above
ST FPCAIANR

(1 A collecting banker is given protection
only when he collects

BT TRIZFR REF TR i @ @fen R
R FA (T

(i) a crossed cheque
93 QMRS 5

(i} a bearer cheque
G IRF OF

(iii) a multilated cheque
G4 FHIOT (5F

(iv) All of the above
ST PR
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(4)

(g) Garnishee order is issued by
TR =R &R 3
(i) the banker
(RE=F

(i) customer of the bank
(615 5 B 76

(i) the court
HMTECS

(iv) None of the above

SR O18 T

(h) “Cash credit is a secured advance.” The
statement is

‘= e BRI ot 1”7 SR
(i) correct [ 8%

(ii) incorrect / g%

(i) “Advances of a bank represents its
assets.” The statement is

‘@ T TR e ARty w1 1
SRece!

(i) correct [ W@

(i) incorrect / Su®
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(5)

() “Endorsement is a must for a bearer
cheque also.” The statement is

‘g IT PSPPI Il Fom
TR 1”7 B!
(i) correct
oA
(i) incorrect
RS

2. Answer any five of the following questions :

. 2x5=10

ficare & @ bt 2pR e foran -
(aq) What is retail banking?

PRI Qe 2
(b} What is bank balance sheet?

@R Bge-o@ o & @2
(c) What is scheduled bank?

STPITE QT I Q@I ?

(d) State how a bank becomes the customer
of another bank.

Bl @A @A M b1 (3P AT T I,
ot |
(e) What is current account?

were fRee 1 Qe ?
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(6)

(/i Name any four documents of title to the
goods.

R @ vRRy e SRer-saq a9
forn 1

(g) Write two advantages of bearer cheque.
IR &R o1 R for o

(h) Define customer of a bank.
QR 21z i fort o

3. Answer any four of the following questions (in
about 200 words each) : 5x4=20

fare R @ wifker e Tex B (afSct 200 B
= f$eqo) !

(a) Distinguish between commercial bank
and investment bank.
e QT W RV ARe 5o sreq
Crysd |

(b) Prepare a specimen of a bank balance
sheet.

G (T ST~ AT 2 41 |

fc) State the characteristics of negotiable
instruments.

TYBICIN oo CAREPTR qefr 4 |
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(7)

(d) Explain the different types of business
credit.

T [ Rfen oFRemR I 41 |

(e) What are the special features of bankers
lien? -

A% T Row FEmR R

(0 Distinguish between cheque and bill of
exchange.

o3 o R Re Tere 2esw (e |

4. Answer any four of the following questibns (in
about 600 words each) :
s R @ wike! 2R Teg frn (AT voo I

7 foo9o) :
(a) Describe the functions of modern
commercial bank. 10

sy MR P FRTYR 36 90 |

(b) State the various assets and liabilities
contained in a bank balance sheet. 10

AR TgE-cae SEge ffen Tof SIF
CRPTEY <l 3 |

{c) Discuss the general relationship
between banker and customer. 10
RAT SF ] e R e Ree
el 911
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(8)

(d) (i) Discuss in brief the credit process
in a bank.

QR 4 IS ST S I |

(i) How banks manage their non-
performing assets?

QAUF VR GETRE TP QT
“If¥v1fers a3 2

(e) State the statutory protections granted
to the paying banker under the
Negotiable Instruments Act, 1881.

vy T WRRES e Wi Siee
IRCTRRA QTF o 331 Rftes T
JIEPIR I F0 1

10

() Write notes on (any two) : 5x2=10

G o (R e o)

(i) Branch banking system
R R S

{ii) Joint Account
Y Rt

(i) Holder in due course
TURRS 4Re

(iv) Principles of bank lending
QT YT NS

* kK

4 (Sem-6) MBP 3



